

...

( ) -

[1].

[2].

$$\frac{\partial \varphi(x,t)}{\partial t} + v \frac{\partial C(x,t)}{\partial x} = 0, \quad C(0,t) = C_0; \tag{1}$$

$$\frac{\partial \varphi(x,t)}{\partial t} = bvC(x,t) - a\varphi(x,t), \quad \varphi(x,0) = 0,$$

$C(x,t), \varphi(x,t)$  -  
;  $v$  -

;  $b, a$  -

[1].

$$(1) \tag{1}$$

$$\frac{k+1}{H} \varphi(p, k+1) + vC(p+1, k) \frac{p+1}{l} = 0, \quad C(0, k) = C_0;$$

$$\frac{k+1}{H} \varphi(p, k+1) = bvC(p, k) - a\varphi(p, k), \quad \varphi(p, 0) = 0, \tag{2}$$

,  $l$  -

$t, x$ .

( . 1).

	$p$	$k$	$C(p, k)$	$\varphi(p, k)$
0	0	0	$C_0$	0
	1	0	$-bC_0l$	0
1	0	1	$C_0$	$bvC_0H$
	2	0	$b^2C_0l^2/2$	0
2	1	1	$-bC_0(1-aH)l$	$-b^2vC_0lH$
	0	2	$C_0$	$bvC_0(1-aH)H/2$
3	3	0	$-b^3C_0l^3/6$	0
	2	1	$-b^2C_0l^2(1-2aH)/2$	$b^3vC_0l^2H/2$
	1	2	$-bC_0\left[1-\frac{aH}{2}-\frac{a^2H^2}{2}\right]$	$-b^2vC_0l(1-2aH)H/2$
	0	3	$C_0$	$bvC_0\left[1-\frac{aH}{2}+\frac{a^2H^2}{2}\right]\frac{H}{3}$
4	4	0	$b^4C_0l^4/24$	0
	3	1	$-b^3C_0l^3(1-3aH)/6$	$-b^4vC_0l^3vH/2$
	2	2	$b^2C_0l^2\left(1-\frac{a^2H^2}{2}\right)\frac{1}{2}$	$b^3vC_0l^3(1-3aH)H/4$
	1	3	$-bC_0l\left[1-\frac{aH}{3}+\frac{a^2H^2}{3}-\frac{a^3H^3}{3}\right]$	$-bvC_0l\left(1-\frac{a^2H^2}{2}\right)\frac{H}{3}$
	0	4	$C_0$	$bvC_0\left[1-\frac{aH}{3}+\frac{a^2H^2}{6}-\frac{a^3H^3}{6}\right]\frac{H}{4}$

$$C(x, t) = \varphi(x, t), \quad -$$

:

$$C(x, t) = C(0,0) + C(1,0)\frac{x}{l} + C(0,1)\frac{t}{H} + C(2,0)\left(\frac{x}{l}\right)^2 + C(1,1)\frac{x}{l}\frac{t}{H} + \dots; \quad (3)$$

$$\varphi(x, t) = \varphi(0,0) + \varphi(1,0)\frac{x}{l} + \varphi(0,1)\frac{t}{H} + \varphi(2,0)\left(\frac{x}{l}\right)^2 + \varphi(1,1)\frac{x}{l}\frac{t}{H} + \dots \quad (4)$$

(1)

$$v = \text{const.}$$

,

(1)

 $b.$ 

[1]

:

$$\frac{\partial \varphi(x,t)}{\partial t} = bv[1 - \gamma \varphi(x,t)]C(x,t) - a\varphi(x,t), \quad \varphi(x,0) = 0, \quad (5)$$

γ - , , - [1].

$$\frac{k+1}{H} \varphi(p, k+1) + vC(p+1, k) \frac{p+1}{l} = 0; \quad (6)$$

$$\frac{k+1}{H} \varphi(p, k+1) = bvC(p, k) - bv\gamma \varphi(p, k)C(p, k) - a\varphi(p, k), \quad \varphi(p, 0) = 0.$$

$$\varphi(p, k)C(p, k) = \sum_{m=0}^p \sum_{n=0}^k \varphi(p-m, k-n)C(p, k). \quad (7)$$

1. -
2. -
1. // -
2. - 279-282. -
2. , 1986. - 160 . -

16.02.2004